Operaciéon sacar factor comun

1.— 12miy*z? —2x*y*z* + 2x y? 7%
2.~ 9a’h’c-2a’h’c* -4 a’h’c®
3.— 4a’m®n’ +8a’m’n-2a’m°n®
4.— amx—bmy+3m?
5.— a’x+b*n—mb*+a’y
6.— ax—-by-3x+cz+5y
7.— 2ab — 6a’b + 10ab?
8.— 75%° + 5x* — 25x°
9.— m® + 2m°n + 2mn’ + n®
10.—  4x*y'z’ + 6x%y’z* - 22x°y*7’
1L— (x=y) (X +y*) + (x=y) (* =y
12.— a*+ 2ab + 2ac+b*+2bc + b
13.— (@’ + b%) (a®* - b®) — 2ab (a®*-b?)
14— Xx=y)+y (x-y)
15.—  4x* - 2x+ 6y —16XY
16.—  —8x’y* +4x’y—2x*y?
17.— 9" —5t°x° + 2t'x°
18— 82t-2xt -2
3 7

19— —2a? -2 gy Mo

21 15 3
20.—  x*-7x'+2x%y
21.—  —47°x-27x"-127X
22.— 3t +21t°x* +15t°x

23.—  6x'y—24x"y+12x%°



